
Workbook 3 samples 

Opener Responder 

 1♠ 2NT 

1) ♠KJ854  ♥AQ3  ♦952  ♣K2  _________________________  

2) ♠AQ973  ♥K754  ♦K3  ♣84  _________________________  

3) ♠AJ1083  ♥KQ  ♦8632  ♣A3  _________________________  

Answers 

Opener  Responder 

1♠  2NT 

151) ♠KJ854  ♥AQ3  ♦952  ♣K2 
Pass. 13 points and a balanced hand. 

 

152) ♠AQ973  ♥K754  ♦K3  ♣84 
3♥.      12 points, semi-balanced, and a four-card suit lower in rank 
than the suit I opened.  Because few of my points are in my short 
suits, I will bid this hand as unbalanced. 
 

153) ♠AJ1083  ♥KQ  ♦8632  ♣A3 
3NT. 14 points.  I have a semi-balanced hand but my points are 
concentrated in my short suits, which will allow me to fill in holes in 
my partner’s hand. 

 


